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FIRST PASSAGE: #&1ii/E:i (Life in lockdown)

Li Wei is an exchange student in New Zealand who returned to China to be with his family during the
global spread of COVID-19. Emma, his friend in New Zealand, has called him to find out what life is like
in China. Refer to this passage in your answer to Question One.
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QUESTION ONE

Whose lockdown situation is better — Li Wei's or Emma’s? Support your answer with evidence from the
passage.
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SECOND PASSAGE: {EWEHLIZ#EF? (Is the gym the best?)

Andrew and Baibai are discussing if the gym is the best place to exercise. Refer to this passage in your

answer to Question Two.
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QUESTION TWO

Based on the conversation, who do you agree with more? Justify your answer with evidence from the
passage.
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THIRD PASSAGE: M/ Mkili (Two cities)

Xiaobai has left you a voice message to seek advice on which city his family should move to. Listen to
his message and answer Question Three.
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QUESTION THREE

Which city should Xiaobai's family live in — Alexandra or Bestown, why? Justify your answer with
evidence from the passage
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Merit Exemplar 2022

Subject

L2 Chinese Standard | 91108 | Overall grade | 17

Q

Grade

Annotation

M5

The candidate demonstrates clear understanding and unambiguously
communicates most of the meaning by selecting relevant information from the
spoken text. For example, differences in school life, differences in app. To get
M6, more details need to be added, e.g. people in China could use app to order
takeaway e.g. Chinese or European takeaways etc.

There is no inferencing in the answers, so this response is not at Excellence
level.

M6

The candidate demonstrates clear understanding and unambiguously
communicates most of the meaning by selecting relevant information from the
spoken text. The candidates have got most of the key reasons why Andrew
enjoys exercising outside and why Baibai enjoys the gym. There is one or two
missing or inaccurate details e.g. The air conditioning is not good. (The correct
information was that “the air is not good”). What Andrew enjoys seeing outside
was also missing.

There is one good inference at the end, the candidate will need to add some
more details e.g. “I think both of them are correct and that the best place to
exercise depends on the person”. But the candidate needs one or two more
inferences to get a solid E mark.

M6

The candidate demonstrates clear understanding and unambiguously
communicates most of the meaning by selecting relevant information from the
spoken text, e.g. The reasons that Alexander is better for the family and with a
good inferencing e.g. there will be lots of tourists in the holidays which does
open up a lot of opportunities for summer holiday jobs’. However, the candidate
need to add more information from the text e.g. more information about
Bestown that are mentioned in the text. Why it is not suitable for the family.
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